HL— [RNILT7+—=] {RE A

No. 1./2 {(SL—3153)
10 3084 x B24T 5300 X = =3250
HaEs MmEs |[Eamf 1E %1 RaEs HaES [(Haf {E %k
G253M0010000|ZE&#: i 1 HG-3681 | H35300870020 [ R T4 2
v-3510 |G253M0030000|5&# Hi 1 1235 X 130 X 75 (_11.8 kg)
G253M0020000| £ & # 1% 1 | |vi-0043|vis3mo200000]88/ ¢ % | 3
G253M0040000| 55 #: # 1 2850 X 695 X 100 (247 kg)
3000 % 170X 110 15.6_kg) |V|_—0043 |VL53M0200000|’¥/€;?~}I/ N 3
G353M0050000|f% & #% 1 2850 % 695 x 100 (247 kg)
V-3511 |G353M0120000|# 47 1 | vL-0043 |vL53M0200000(82/ SR )L % 3
G353M0130000| Hif#T 1 2850 X 695 x 100 (247 kg)
3115 X 200 X 105 15.7_kg) |V|_—0043 |VL53M0200000 BRI K | 3
VL-0020 |J253M0060010 BIO—F—H# £ 1 2850 % 695 x 100 (247 kg)
J253M0070010 |gia—4—4 & 1 |VL—OO42|VL53M0200000 BRI K | 2
3570 X 200 X 180 29.2 kg) 2850 X 695 X 70 (_16.9 kg)
VL-0021 [/253M0080000 #Fa—F—H & 1 |VL—OO42|VL53M0200000 CIAY SN | 2
J253M0090000|#0—7F—4F & 1 2850 X 695 X 70 (_16.9 kg)
2970 X 110 X 80 11.8_kg) VL3543 |VL53MO0200000|B/3)L K 2
| viL-0023 | y253M0100000 | siRIAE | 8 | J353M0220000 | B2/ S )L 3k 1
2890 X 105 X 55 19.5 kg) 2850 X 695 X 100 (_18.8 ksg)
|V|_—3523 |J253M0100000|EPF'§I#I | 6 | F253M0330010 | E1R/KE1Y ZHiI 1
2890 % 85 X 55 146 kg) F253M0350010 | E1R/KEIY AR 1
| SL-3524 |.J253W0170001 ARAKM | 14 | F253M0340010 | 21R/KE1Y ZE% 1
2800 X 165 X 60 23.6 kg) SS-3555|F253M0360010 | B4R/KEIY A 1
| viL-0024 | J253M0110000 | e 45 | 2 | F253M0470010 | & #ek ¥y EART 2
3045 X 245 X 145 22 kg) F453M0500010 | &#KkT1Y % 6
v-3530 |G353M0140000|F R £} 1 G25300630000 |8 0 {r E =45 2
G353M0150000(—fi&FFEE (x&HY) 1 3585 X 222 X 98 (236 kg)
3055 x 145 X 110 176 _kg) | S-3682* | 63530710000 B/ $HJL | 2
| v-3032 |G353M0150000|— 2R E (FeéY) | 2 | 2840 X 285 X 95 ( 11.6 kg)
3055 x 140 X 87 158 kg) | S-3682% | 3530710000 B/ $HJL | 2
| v-3032 |G353M0150000|— 2 BE (FedY) | 2 | 2840 x 285 X 95 ( 11.6 ke)
3055 X 140 X 87 15.8 kg) | S—3682*|G353*0710000|E/§*}lx th | 2
ss_3533 | F393M0180000| Al A1/ X — 1 2840 X 285 X 95 (_11.6_kg)
G353M0280000|§T4E 1 | S—3682*|G353*0710000|}§/€*}lx th | 2
3085 X 197 X 78 11.6 kg) 2840 X 285 X 95 (_11.6_kg)
G353M0270000|iT1b$EHR 1 | S—3682*|G353*0710000|E/€3?~}I/ th | 2
v-3545 |G353M0680000| E4RAIE A/ \— 1 2840 X 285 X 95 (116 kg)
| s-3682% | G353+0710000 |G/ S L & | 2
2840 X 285 X 95 (_11.6 kg)
3100 X 430 X 150 154 kg) S-3683% | G353*%0720000 |FE/ SR )L (Sft) 1
V-2036 |G253M0230000|Z{L4E4R A 1 G353%0730010 [FE/SRJL T 1
G253M0250000( % 1L #E4R &l 1 2840 % 310 X 95 (15 kg)
3120X410x 110 20.2 kg) | AT-JG2 | 1399813100 |;’“L7‘:'C‘¢§E60(92F|:|>)Lz2950 | 1
v-3537 |G253M0240000|Z L4tk % 1 2970 X 61 X 61 ( 1 ke
G253M0260000| A L3R #% 1
2380 X 310 X 105 115 kg)
J253M0370000 |f#&EL—)L 2 KEBRES - HABSO+IEESESH
J253M0380000|f=TL—JL & 1
VL-2680 [ y253M0390000|/-TL—JIL & 1
M253M0450000{ R Ty 5 H/\— 2
2000040050 |EE5IETFIT#HE 1
3182 X 127 %55 16.4 kg)




No. 2/2

R0 3084 x BT

HL—

D [RILI7A+—=] R BE
{(SL—3153)

5300 X & 3250

WaFEs | HRES (B84 By | [ Hass | HNSBs [H58 | {E %%

G253M0400000|RL— )L 2
G253M0410000(##L—)LiLHhEE 6
G253M0420000(#EL—/LIEHEE % 2 XK INOFEEDDHEE
G253M0430020[;88E & % 1 [ s-2660 [F253M0290000]E1E1R & | 2
G253M0440020|;BEH& A& 1 3576 X 785 X 70 (269 kg)
GYOOMO0810020|F & (1) 2 | | s-2660 [F253M0290000|E1R4R &I | 2
GYOOMO0820040|FE (F) & 1 3576 X 785 X 70 ( 269 kg)
GYOOMO0830040|FE(F) A 1 | s-2561 |F253M0310000|B4RiR % 2
GY00M0840000| 1 & 13 2360 x 785 X 70 ( 17.9 kg)
GYOOM0850020 |1 & (FE{+) & 12 | [ s-2561 |F253M0310000|ZEiR % | 2
GYOOMO0860020|1% & (FEfH) B 12 2360 X 785 X 70 ( 17.9 kg)
G25300460000 [R5 AR—H— 2
S253M0510000|FEY v av&E £ 1 X fHEERDREE
S253M0520000 |4 viav e B £ 1 | S-7z2660 |FZ53M0290000| B4Rk A1  (EZHAH | 2
$25300530000 (12 CES 2 3576 X 785 X 70 ( 26.9 kg)
S253M0540000 | BBy av &+ 2 | [s-z2660]F753M0290000]21E4R ®1 (sEEZ R/ A | 2
G25300510000 (A7 Hh—2 B 2 3576 x 785 X 70 ( 26.9 kg)
G25300520000 [ & #ikx4 E 2 | s-z2561 |FZ53M0310000| B4Rk #% (EZHH | 2
4984800358 |{t¥fa—+— & 1 2360 X 785 X 70 ( 17.9 kg)
4984800359 |{b#fa—F+— & 1 | [s-z2561]Fz53mM0310000[2#E4R % (WERLVR) [ 2
G25300560000 [EFkEIEHEE 2 2360 X 785 X 70 ( 17.9 kg)
G253M0570010| B4R H KL 36 X fEEED R

4984800360 |&#yNH/N\— 6 FZ53M0330010|E#E/KH1Y ZEriEEE= R 1
G253M0590000| EB#Ra—F—h/\—HiE 1 FZ53M0350010| B4R /K1Y HArEIGES= R F 1
G253M0600000|BfEa—+—H/\—HilA 1 FZ53M0340010|E1R/KTIY E#EE=RA A 1
G253M0610000| B#Ra—F—Hh/\—8RE 1 SS-Z3555(Fz53M0360010|BiR/KIY HHRGEERA A 1
G253M0620000| B Ra—F+—Hh/\—%H 1 F253M0470010 [&#:/KE1Y EHEI 2
G25300650000 [FT{EiEtRIEHE R E 1 F453M0500010 | & #:k81Y 1% 6
G25300660000 [RI{E IR LEOHEET 1 G25300630000 | O = [E 5 #% 2
4989800133 |74 D254 ED4) 2 3585 % 225 x 103 ( 236 keg)
4989800104 |71 —4')vT O4H 3 L
GY0001000000 | 7> h—#% 2 SET | EfRRST |

SL-3502 401223012 . : = =

4401523003 7‘/“73“—7k)l/f~(-)-‘yl~,'7‘y*/)<"§atr) 6 R E 2K g5 g5

aso1811002 | (T ILFHybERR) REE 567 kej 657 kg
4986300114 |BEKT—F (ETV) 2

4985700097 |SRFrvT D17 10

4985700109 |HaLyvFrvT 4

4985700026 [RLF+vvT 46 _ _ _
4986000033 |Zx)Lbk/SyF> (6x20%5) 37 HiERS EEE BamEs(*x) | HAEFES(*x)
4401806023 |EiREE 37 SL-3153W | L—>hkTIAk W W
4985700126 |EHRA M6Fyrv7 37 SL-3153S | HILTJ7— JL/N— S S
4401506001 |M6F vk (15&) 37

4401206123 |M6 X 40+t AR/NE R L MESL 58

4401206122 |M6 X 20+t ARNER L MESL 4

4401206117 |M6 X 16+t LARNAR LMESL | 227

4400360008 |M6 x 12+&54al 22

4401506029 |M675 At ENRATVE 77

4400350087 |M5 X 12+% 4 170

4401205032 |5x 12770 1+ A4t valC1fE 38

4401204014 |Y—IfFPANTHZHaL(4 x 13) 13

4401208033 |M8 x 20750 fFE/ A Wb 2

4401508017 M85 U FE/RAF Yk 2

4984800317 |#=E :60(APEHIVI30) 3

4984800215 |T)JLA60-80° 1

4401204015 |PANTH X4l (4% 16) 10

4985700017 |fE{+45 OAYE(SG-50A) 1

4985700099 |THRRLEIHF vy 6

4987200021 |3—F 2 H5FI(XK) 1

4989800094 |AAJL 1

4989800135 |#EEER)—IP8 2

4987200002 |tEiEEHI 1

5405340212 |{REFE 1

4201898224 |fHIEEF (Z O L—) 1
EG11SC000000|#8 37 SR 1
425 % 330 % 270 ( 185 kg)




